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Sarav Shiksha Abhiyan, M oddl Test Paper

ClassV, English-A

Time 2hours Total Marks: 100
Note:- All the questions are compulsory.
Q.1 Answer the questions. (Any five) (5%3=15)

a)
b)
c)
d
e)
f)
9
h)

Who sellsthe balloons?

Which animal is called the ‘King of the Jungle?
What isthe meal we have in the morning called?
What is the other name for Darbar Sahib?
Inwhich season isLohri Celebrated?

Name three animals that are kept as pets?

Who was Chimpu’ sfriend?

Was Surjit’ sfriend honest?

Q.2 Fill in the blanks by choosing theright words:- (5x2=10)

3
b)

<)

Aliwantsa........cccoceeennen. balloon. (round/ long)

(27 [ thefootball. (kicks/ drives)

A e ran over thelion’ s body. (mouse/mice)
lwenttoa......ccceeeveeneen, at Amritsar. (fair/fare)
Rajuhasa.......c..cceenee. shirt. (new/ knew)



Q.3 Writethemeaningsof thefollowing wordsin Hndi/Punjabi.

(Anyfive) (5%1=5)
a Lunch
b) Village = 000
) Thankful
d Bdieve
€  TOMOITOW e
f)  Hunter
0 Cry
h)  Payground
Q.4 Writefivelinesof self introduction. (5%2=10)
) S
) SR
L TSP
1Y R
V) e
Q.5 Write‘T’ for trueand ‘F’ for false: (5%x2=10)

a
b)
©)

d)

There are many dogsin the house.
Chimpu awaysdid what his mother told him.
Thelion was caught by some children.

The Children run to the playground with their balloons.

€ TheTgMahd isin Agra

Q.6 Make sentences with the following wor ds. (Do any five)

F2) IS 010 1o |

b) Mango.....coooniiiieniennn,

C) Dinner ....coovveiiieeee.

d Birthday ....ccccccooovniiiiiin.

€ Friend ...,

f)  Strong .ccccoeeeeeiee e,

g Beautiful ..cccooovvevieeee

h) Market.....cccooooovevciieiieee
Q.7 Fill in theblankswith a pronoun.

) I has two pencils.

1) I hasabig house.

17) S am playing with my balloon.

1Y) I isRita ssister.

V) e arefriends.

(5x2=10)

(5x2=10)

Q.8 Fill in the blanks by choosing words from the box below.

(flowers, help, stick, good, wrote)

a Theballoonseller hasballoonsonalong

b) Hegavemea................... news.

¢) Theboy shoutedfor ...................

d) Thegardenwasfull of ...................
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<) I I aletter to my friend.

Q.9 Write the opposites of the following wor ds: (5%1=5)
Finish ..o
D) Big.oiiiiine
0 Up.ieees
d  Fal.iiiiies
€ Near...ooevvevveeenn.
f) Old.iiii
Q.10 Writename of 12 months. (6)
Q.11 Writeplural:- (5%x1=5)
a Animad
b) Table
c) Baby
d Book
€ Mango
Q1l2Writeany eight partsof your body. (@]
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Time 2hours

Q.1

Q.2

ClassV, English-B
Total Marks: 100

Fill in the blanks by choosing suitable words: (Any Five)

ad Theboylivedin ... (village/hills)

b) The Sarpanchtook Navjottothe..................
(backyard/house)

C) Simranwasa........c.c..c..... girl. (young/old)

d Thelionwas................... inanet. (tied up/tried)

<) IR comesafter March. (may/april)

f) Chimpulivedwithhis................... (mother/friend)

h) Thebdloonsdler hasbadloonsonalong................ (dickcar)
o) IR isgood boy. (he/she) (5%2=10)

Answer the following questions: (Any five) (5x3=15)
a) What did Manpreet call her monkey?

b) What did awolf do one day?

¢) Nameoneimportant festival of Punjab?

d) Which placesdid Amar visitin Amritsar?

€) Whowas Chimpu’sfriend?

f)  Who cheated Surjit?

g Why did Simran’ smother go to work?

h) What isyour father?
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Q.3

Q.4

Writethe meaningsof thefollowing wordsin Hndi/ Punjabi.
(Anyfive) (5%x1=5)
a Butterfly
b) Monkey
c) Dream
d) Parents

€ Autumn

f) Corner
g Festiva
h) Hunter

Fill in the blanks by choosing wor ds from the box below:-
(sapling, teached, plant trees, plants, every day, watered, trees)

a Mr.Singh............. in Government Primary School.

b) Hetook the children to the school ground .............

¢) Theyplannedto.............

d) Theyplantedand............ the .............

€) Mr. Singh gaveeach studenta............. (5%2=10)

Write'T’ for trueand ‘F’ for false:- (5%2=10)
a) August isseventh month of theyear.

b) Cabbageisatasty fruit.

¢) Small hand of aclock isfor seconds.

d) Manpreet had a pet dog.

€) Thebaloon sdller had only white balloons.

f) Chimpuwasaplayful baby elephant.

g) Plants need water and sun shineto grow.

h) Doctor isaperson who makes our clothes.
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Q.6

Q.7

Q.8

Q.9

Q.10

M ake sentences with the following words: (Do any five)
d Breakfast
b) Punish
c) Ugly

d) Late

€) Road

f) Start

g Hunter
h) Brush

(5x3=15)

Write the opposites of the Following words: (Any Five)
a) Dirty
b) Day

c) Short
d Good
e Village
f) Enemy

g Inside

Writefivelinesabout your school? (5%x2=10)
Writethenamesof five colour sand fivethingsin thekitchen
or classroom? (1x10=10)
Read the passage car efully and answer the questionsgiven
beow.

Passage: - Once there was a merchant who had a son, named
Surjit.Oneday two hadto go onjourney to sell their goods."* With
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Q.11

whom shall we trust our money while we are away? ' asked
the merchant.'* My friend isthe most honest manin thetown,’”’
replied Surjit.
Q.1 Who had ason?
Q.2 What was son’s name?
Q.3 Wheredid the two go?
Q.4 Who was an honest man in the town?

(3%x2=6)
Completethefollowing

¢) Makesaman.
o) TR e and wise. (¥2x4=2)

Q.12 Writeplural of thefollowing:-

a bag
by fan

C boy

d) donkey
€ pet

) pn
(V2x4=2)
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ClassV, English-C

Total Marks: 100

All questionsare Compulsory. (5%x2=10)
Q1. Read thefollowing passage and answer the questions given

beow.

Guru Nanak’ sbirthday is celebrated on the full moon night in the
month of Kartik.This festival,falls in autumn.This Guru Purab
marks the birth of Guru Nanak, who founded the sikh religion.He
believed that al people are equal and that we must always help
and serve other human beings. Two days before his birthday, the
holy book of the sikhs, Sri Guru Granth Sahib is taken up for
reading.

a WhenisGuruNanak’sbirthday Celebrated?

b) Whofoundedthe Skhreligion?

¢) Inwhichseasonthisfestival fals?

d) Namethe holy book of sikhs?

€ What did Guru Nanak Ji believe?

Q.2 Writethe meanings of the following words and also make

the sentences. (Any five) (5%3=15)
a Garden
b) Parents
c) Temple
d Bag e,
€ Bus



f)  Children

g Butterfly

h) Village
Q.3 Answer the following questions (Any five)

a Who planted the trees?

b) Which placesdid Amar visitin Amritsar?

¢) Nameonefestival of Punjab?

d) Doyouthink Simranwasabravegirl?why.

€) Who cheated Surjit?

f)  Why did villagers not believe Ramu?

g Why did the mouserunto help thelion?
h)  What can you do with aballoon?

(5x2=10)

Q.4 Fill in the blanks choosing the right words given in the

brackets. (Any five) (5%x2=10)
a Simranwasa................ girl. (old/young)
b) Rag hasa................ shirt.(new/knew)
) Mr.Singhisa......ccc...... (teacher/ student)
d Navjot namedthepup................ (tommy/monty)
<) comes before March. (april/ february)
f) Aliwantsa................ balloon.(long/round)
g The......... was sleeping under atree. (lion/ line)
h Ravi ... thefootball. (kickg/licks)
Q.5 Writeplural of thefollowing. (5%1=5)
a BOX i,
b)) Zo0 .o,
0 Pen
d) K& e,
f) Glass .o

Q.6 Fill ‘has’ or ‘have’ intheblanks (Any five)

a)

Trees..coovveennen. many leaves
Thedirl ... no friends.
My mother ................. ared coat.
Jagjit oo ablack coat.
DOgS...ccvvvvvenen short tails.
Rita......cccoee.e. abox

(5%2=10)

Q.7 Underlinethenounsand encirclethe verbsin thefollowing

sentences.

a)
b)
©)
d)

€)

Mohan copied the answer.

Harjit sang sweet song.

They went to the new house.

| wrote aletter.

Ram and Sham are good in English.

(5%2=10)

Q.8 Put atick mark (v) against the correct and cross(x) against

the wrong statements (Any five)

a)
b)
<)
d)
e)
f)
9
h)

Thelion was freed by the mouse.

Copy cat turned the key and started the car.
Amrit was not late for schoal.

Lohri isafestival of new born babies.
August isthe eighth month of the year.
Ramu started singing,'‘ Wolf! Wolf!"!

The pupilstook proper care of the plants.
Chimpu was aplayful baby monkey.
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Q.9 Choose suitable prepositions from the box to fill in the

blanksfor picture statements. (5%x2=10)
behind, on, inside, under, infront of — =
a Thebdlis.......... thetable. F—lj —rﬁ
wok ol
i
R
b) Thewateris............... the glass. v =
ri==
¢ Thebottleis............... on the bench. s
by gl
Yoo
;'._I'. I_\lI r
d) Thetreeis................. the house. Ry 22%“:
‘—?*Lﬁsl-'n:
LT

€ Thegirlis....ccceuunee. of the blackboard.

Q.10 Name the fruits/Vegetables given below.(Any five)

(5x2=10)
‘?’,.aé? .l. fa) é:?- _-'i'_
N ¥ .'.lj' f-; ha
) A

Sarav Shiksha Abhiyan, M oddl Test Paper

Time 2hours

ClassV, English-D

Total Marks: 100

Candidatesareto attempt all the 10 questions.
Q.1 Fill in the blanks by choosing the right wordsgiven in the

brackets:(Any Five)

a)
b)
0)
d
€
)
)
h)

(5%2=10)
Theboy shouted for .........cccoeee.. (hel p/water)
She..vecees abook from the shop. (bought/sold)
Monday comesbefore.................... (sunday/tuesday)
Jagjit .ooecriiieinns ablack coat. (has/have)

My friend hasabaloon with many............... (colourd/collars)
The............ of the merchant’ s son was Surjit. (place/ name)
The.............. hasalong trunk. (crow/elephant)

Raj hasanew ................. (shirt/have)

Q.2 Put(v)againg correct and cross( x) against wr ong statement:

(Any five)

a
b)
0)
d
E)
f)
v)
h)

(5%2=10)
Navjot was not loved by the Sarpanch.

Chimpu wanted to play with the sparrow.

The sun shinesinthe morning.

Copycat turned the key and started the car.

Simran lived in avillage called Sohana.

Sri Darbar Sahib isaso called Sri Harmandar Sahib.
The pup was very healthy and happy.

Lohri isheld in summer.

Jogouooga
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Q.3 Writethemeaning of thefollowing wordsin Punjabi/Hindi Q.6 (a) Writefive sentencesabout your self. (5%x1=5)
and make sentences also. (any five) (5%x3=15) (Name, Age, Class, Schoadl, Like)
Jump, Plants, Festival, Stick, Field, Sky, Sunday, Dog.

(b) Fill intheblankswith ‘@’ ‘an’ or the. (5%1=5)
=) I Shatabdi Expressleavesin................ morning.
Q.4 Answer thefollowing questions:- (any five) (5x2=10) b lae........ apple,.....cccue. orangeand............ banana.
@ When did Harpreet get up? [ N Childrenwentin............. car
b) Why did themouserun to help thelion? ) treefell on.............. house
¢) Whowantsaround balloon? e Helivesin................ village

d) What doyou learn from the story wolf ! wolf 1?2 ] ]
) Withwhom did A 10 Ammritsar? Q.7 Read thefollowing passage carefully and find. (5x2=10)
€ ithwhom did Amar go to Amritsar”

f)  What isthe other name of Sri Darbar Sahib?
g WasSurjit'sfriend honest?

h) What did the car hit?

Raj went for along walk. He took his best friend along. On the
way they saw a beautiful garden. It has big trees and preety
flowers. It made them happy.They returned quite | ate.

a) Pick out 5 Pronouns.

) b) Pick out 5 adjectives.
Q.5 Re-arrangetheletter sto make meaningful wordsfor these

pictures. (5x2=10) Q.8 Match the oppositesin Column A and B (5%1=5)
C = Column A Column B
& SN0alobl oo Going Clean
EY Dirty Finish
.f.: T Ood Small
b) Ikcoc....covvnnnee. { T ’4 Big Coming
~ Start New
©) agnoM........cc........ §oe. Q.9(a) Match theanimalsto their babies. (5%x1=5)
S - Dog Chick
@Tw Cat Duckling
d) rokcf......ccounen. % Hen Piglet
o Duck Puppy

- Pig Kitten
€ epIinC....ccccvenene. /
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(b) Writefivenamesof thecolours. (5%1=5)

Sarav Shiksha Abhiyan, M odel Test Paper

Q.10 Read the following passage and answer the question given ClassV, Engl Ish-E
beow. (5%x2=10) Time: 2hours Total Marks: 100
Chimpu was aplayful baby elephant. He did what his mother tell
him not to do.One day, mother elephant returned home from the Note:- All questions are compulsory. (5%2=10)
market.Guests were coming for dinner. So, mother wanted to Q.1 Read the following passage and answer the questions
take rest. Chimpu wanted to go out to play with his friend parrot. given below.
He promised his mother to become good and went out. Inasmall village of punjab, there lived a boy called Navjot. He
a WhowasChimpu? wasliked by all the villagers. The Sarpanch had promised to give
b) Why were the guests coming for? Navjot, apup asabirthday present. On hisbirthday Navjot along
¢) Who waschimpu'sfriend? with his parents went to the Sarpanch’s house. The Sarpanch
d) Did Chimpu’s mother return home tired? took them around his big house with agarden full of flowersand
€) What was Chimpu’ spromise? vegetables.

i)  Wholivedinthesmal village?

ii) WasNavjot liked by all the villagers?

iii) Who had promised to give Navjot a pup as abirthday gift?
iv) When did Navjot go to the Sarpanch’s house?

v) What wastherein the garden?

Q.2 Answer thefollowing questions (Any five) (5%2=10)
i)  Why did themouserunto help thelion?
i)  What isthe meal we havein the morning called?
i) Who planted the trees?
iv)  Who had promised agift and to whom?
v) Doyouthink Simran wasabravegirl?
vi) Whowas Chimpu’sfriend?
vii) What can you do with aballoon?
viii) What did the monkey aways do?
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Q.3 Writethemeaning of thefollowing wordsin Punjabi/ Hindi/ Q.6 Usethe given wordsin sentences of your own. (Any five)

urdu. (Any five) (5%1=5) i) Od
i) Old - ii) Butterfly
ii) Outside - iii) Beautiful
iii) Autumn - iv) Festiva
iv) Fidd - v) Net
v) Buitterfly - vi) Market
vi) Stick - vii) Dinner
vii) Tank - viii) Dance (5%3=15)
viii) Village 1
Q.7 a Writepartsof the body? (Any five) (10 Marks) (25)
Q.4 Fill in the blanks choosing the right words given in the i)
brackets. (Any Five) (5%2=10) i)
) Rita......... abox. (have/ has) iii)
ii) Thelionwassleepingunder a............... (tree/ free) iv)
i) We....ooeuee. red cars. (have/ has) V)
iv) Rani.............. to her school. (walks/ wolks) 1
V) My livesin Amritsar. (ankle/ uncle) b) Writeany fivefruits? (25)
vi) Simranwasa................. girl. (old/ young) i)
vii) Themonkey hasalong............... (tale/ tail) i)
viii)Rg hasa................ shirt. (new/ knew) iii)
iv)
Q.5 Tick (v) againg correct and cross(X) againgt wrong statement. V)
(Anyfive) (5%x2=10) 1
i)  Lohriishddinwinter. ] ©) Writeany fivevegetabls? (25)

ii) Guestswere coming for dinner. ] i)
iii) Augustistheeighth month of theyear. ] ii)
iv) The pupilstook proper care of the plants. ] iii)
v) Therewere many dogsin the house. ] iv)
vi) Surjit’sfriend wasvery honest. ]
vii) Ramu played ajoke two or threetimes. ]

]

viii) The baloon seller had balloons on along stick.

v)
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d)

Arrange these wordsin the ABC order and write them.
mother, place, visited, temple, shop, gold, holy, weekend.

(23)
Q.8 Choose suitable prepositions from the box tofill in the
blanks. (5%2=10)
under, inside, on, infront of, behind
i) Thecatis......ccoeuenn.e. the chair.
ii) Thebookis.......ccovnunne thetable.
iii) TheboyiS......ccceeuenuenne thetree.
iv) Thegirlis....cc.ccceevrnnne. the house.
v) Thebdlis......ccccoununenn. thetable.

Q.9 Fill in the blanks Choose wor dsfrom the box given below.

red, giddha, kicks, have, playground.

i) RaVi i, thefootball.
ii) Thewomenin Punjab perform.................. dance.
iii) Thechildrenruntothe.................. with their balloons.
iv) Karanand Simi ................... ahousein Ropar.
V) lhavea............ shirt. (5%x2=10)
Q.10 a) Writethedaysof the week? (7x1=7)
i) ii) iii)
iv) V) vi)
vii)
b) Encircletheodd word out in each row. One has been done
for you. (3x1=3)
red yelow blue
cat car monkey dog
baloon truck bus van
one three four tree
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2. AT e



o
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5. IEar

Adt H9E 9< & 4Bt g2t 39:- (10)
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Lo, Haret AT gat T

J5 feu yrast fes fan s yasT € €39 fad:-  (4x5-20)
AU & 2y J fast & ot aizm?

IBUST TIHBT < HI?

grar fang afge g&7?

g9 gdt § gt fa§ W 39 As?

MT&EIYd ATTdY &9 & fama eafenT 3 fermer ufgsT
&t ot At?

6. WS WTET T & Aivt fa€ fumm?

faw feat few 3 10 =at er 3y f&4:- (10)
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mue fH3e § unsT €9 um Je 3 suret usa fad |

agrwbdPE

A
gl fag T fer et miue Ag® € HY miftug #t 3 35
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5
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|
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g
:
i
d
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1. w3t & faw I9s mruer a3 ferg faprr ?

2. AJTeT € IuST faE @ WeT I w3 feg ae sareT 37
3. fagg fiw er Ifae-rfoe fag fagr mt?

4. 3 § 33 €9 &% faf st yret gatEt?

5. ga1 fang afde g7
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y.6 JIs fertnt arfe-AIat yahit a9 - (5)
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Gu
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6. Byd § g9US T udt et faf wre mr@<t 37
7. €ur fiw fards fa€* famrr?

y.6 I& fafomit arfe-Azat yatut q9:- (5)
1. fde fAy 3 et
2. & < famrdt At
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gatet I

y.9 35 faftmit feg fan fea fen 3 3y faa:- (10)
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Ht 99 &6 €< #I, fendt, ¥y

y.127uE W39 & U39 fau fan f<e 3t Mue rg® ©r =96e
13T 3= fa IT§ MuS g 575 fegt funrg fag 91
Cu
A<t UH 996 BUd3 A% e85< T Aadifede & BET HY
e ud § mawt {4 |
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HAMT:
&2:-

y.1

Aa< fAfumr miforTs, Ws® 2Re UuT
AT AT, UATE-E

2 ue & nid: 100
AT YHS Agal 35 |
Jo fedhut afegret 5 fan fea afear dhut g9-Uqa A9t
feg:- foghrr wa, ygrs ot ¥ (10x1-10)
J& &gt arfe Aaat ydhit a3~ (5)
@) TIMHI Y, oo |
M RIST QT T, oo, |
I3 fau yast &9 fan Um € €39 fau: (5x2-10)
(€) =Turdt & wiggg gedg § &t g€ da?
() II="S A9 & f&H & ot femm?

(8) flst St #ig3t esardt § faf sdt =get?

() AN € 5%-2 W8 &7 gV fa=" ge® fagr 97

(@) Hfga fa€ um afd<t mit?

() gL HTEt O™ &% yItsT fa gar@er grd<t At?

(€) Jo fou maet f&9 fan A © =95 9v&:- (5x1=5)
) A iy  InSe

i)y Few __ iv) onftm

V) B8 W) e

J5 foy wget fan i € f&ar gea:- (5x1=5)
) oW i) =

i) WSt iv) &9

V) g Vi) Afewa

J5 feu maet &9 fan Uvr nget @ f<adl mge fay:- (5x1-5)
) fear i) €J

i) ¥gr i) fes

V) HeT W) e
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y.10

I &3 mue Azt &9 fan UA & §U g9 8- (5x1-=5)

) HI&I i) eHATIT

i) fAsr _ iv)  #fge

V) UdHE Vi) = 1

J5 fau fefmnt €73 fan fea few €3 15 ==t <9 3y fau|
dest, 3Tty AT iz (15)
Bua & g9Us 99 udt 28t faf we wrfet 37 (5)
I fay fan Ua meet § =9t fg 93— (5x2=10)
) ygEr

i) yfita

i) Hg®

iv) Eggrdt

v) ey

vi) geuet

vii) A=Tet

3 FET IS yHT gt gai- (5x2=10)
(fewony, wars, mirgeT, UAT, oAET)

D Ut . fag utg=ar|

i) SB/ATGIT ... ot e st ATt T

iy sArETafeg gl ... aff

iv) HAdeTeT fAgT o e RTS8 T

V) TEUITE S YT oo, It =un &9 faami

et fea fas U39 fae:- (10)

WY ifonmud 7t 3 A9 e3< T Aadifeae B et fad Usg
fea?

Cu
WUE 9T A1 28 AsH fes 3 97 397 BTt Ua<e U39
fog
FH™S WTd8d HYe 84— (5)
1) 99T 2) IHST
3) dIferg 4) TH-TEE
5) A%
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